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APPLIED INSTRUMENTATION
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Time allowed : Three Hours] [Maximum Marks : 70
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Note : Question No. 1 is compulsory, answer any FIVE questions from the remaining.

(ii) FeA% F99 & G 9T 1 HHAR 0F G 5F Fd |
Solve all parts of a question consecutively together.
(iii) X% ¥97 B 79 78 8 YR Fford |
Start each question on fresh page.
(iv) I 9797371 § 3= 51 1 11 7 3131 e 1 o= 8 |
Only English version is valid in case of difference in both the languages.

1. T =i wgm § wnened
Explain the following in brief :
(i) TETE BT TR
Glass forming process.
(i) T e ardi e 8 g gvsm
Time lags in temperature control of chemical reactor.
(iii) Y[R T Y[ Hal
Drying curve of a dryer
(iv) g fafes Hvaew
Heat exchanger variables
(v) FEUAH TG
Boiling point rise (2x5)
(1 0f2) P.T.O.
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2.

et s <t fafer o1 wfem vl i |

Explain the steel making process with neat and clean sketch.

gerelier Wi w5 A fored et 1wt queEd |

Explain the electricity generation by nuclear power plant with neat sketch.

() T fe i e AT e ) G A e |

Explain Cascade temperature control of chemical reactor with recirculation.

(ii) Tt e A friat g Fr afas s |

Explain continuous pressure control of chemical reactor with neat sketch.

AT I I TS TG TR TS
Explain the following dryers with neat sketch :
(i) B R Tss

Spray continuous dryer
i) Frefa vt sa =55

Vacuum blender batch dryer

sy7q ATt Ferfreeres <6 Ay v <t wfii 39 faf = afs awgmsd |

1091

12)

12)

(6+6)

(6+6)

Explain pumping trap method for controlling temperature of a steam heater exchanger.

it anfeE S SRt fas s ausns
Explain the working of following evaporator with neat sketch :
() o el St e
Long tube vertical evaporator
(i) ST =3hi SIS

Forced circulation evaporator

frerfefiga foredi Q w afira feoft ot :
Write short notes any two of the following :
() oS A TS
Batch fluid bed dryer
(i) gafom st ard e
Temperature control of condenser
(iii) e ferea WA '
Thermal power plant

(12)

(6+6)

(6+6)



